
 

8420 

YAMAHA YZF600, R6 

2003–2005 
REVERSE SHIFTING 

Part Nr. 7560

854W 

865 

818170 M8 x 30 DIN6921 

+ 82557 

M6 x 25 DIN7380 
+ 816L + M6 DIN985 

M8 x 30  

DIN7991 

810R 

M8 x 30 DIN6921 

+ 807 

M8 x 50 DIN6921 

+ 807 

M8 x 20 DIN7991 M8 x 20 DIN7991 

M8 x 40 DIN7380 

+ M8 DIN934 

M8 x 35 DIN7380 
+ M8 DIN934 

M6 x 40 DIN7380 

+ 817 + 123121506 
+ M6 DIN985 

 
 

M6 x 12 DIN7991 

 BD12 

M6 x 25 DIN7380 
+ 816R + M6 DIN985 

 
 

829 + 
M6 x 30 DIN6921 

+ M6 DIN985 

813LB 

8430 


